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QUESTION 1

You created an Oracle Linux compute instance through the Oracle Cloud Infrastructure (OCI) management console
then immediately realize you forgot to add an SSH key file. You notice that OCI compute service provides instance
console connections that supports adding SSH keys for a running instance. Hence, you created the console connection
for your Linux server and activated it using the connection string provided. However, now you get prompted for a
username and password to login. 

What option should you recommend to add the SSH key to your running instance, while minimizing the administrative
overhead? (Choose the best answer.) 

A. You need to configure the boot loader to use ttyS0 as a console terminal on the VM. 

B. You need to terminate the running instance and recreate it by providing the SSH key file. 

C. You need to reboot the instance from the console, boot into the bash shell in maintenance mode, and add SSH keys
for the opc user. 

D. You need to modify the serial console connection string to include the identity file flag, –i to specify the SSH key to
use. 

Correct Answer: D 

Reference: https://docs.oracle.com/en-us/iaas/Content/Compute/References/serialconsole.htm 

 

QUESTION 2

Recently, your e-commerce web application has been receiving significantly more traffic than usual. Users are reporting
they often encounter a 503 Service Error when trying to access your site. Sometimes the site is very slow. 

You check your instance pool configuration to confirm that the maximum number of instances is configured to allow 20
compute instances. Currently, 14 compute instances have been provisioned by the instance pool. You also confirm that
current CPU utilization across all hosts exceeds the scale-out threshold you set in your auto-scaling policy. However,
the instance pool is not provisioning any new instances. 

What can you check to determine why the application is NOT functioning properly? (Choose the best answer.) 

A. Verify that the new offer feature code did not introduce any performance bugs. 

B. Verify that the database is accessible. 

C. Verify that the compute resource quota has not been exceeded. 

D. Verify that the Quality Assurance team is not currently performing load-testing against production. 

Correct Answer: C 

 

 

QUESTION 3
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Which statement about Oracle Cloud Infrastructure paravirtualized block volume attachments is TRUE? (Choose the
best answer.) 

A. Paravirtualized volumes may reduce the maximum IOPS performance for larger block volumes. 

B. Paravirtualized is required to manage iSCSI configuration for virtual machine instances. 

C. Paravirtualized volumes become immediately available on bare metal compute instances. 

D. Paravirtualization utilizes the internal storage stack of compute instance OS and network hardware virtualization to
access block volumes. 

Correct Answer: A 

Reference: https://blogs.oracle.com/cloud-infrastructure/paravirtualized-block-volume-attachments-for-vms 

 

QUESTION 4

You are working with Terraform on your laptop and have been tasked with spinning up multiple compute instances in
Oracle Cloud Infrastructure (OCI) for a project. In addition, you are also required to collect IP 

addresses of provisioned instances and write them to a file and save it in your laptop. Which specific Terraform
functionality can help accomplish this task? (Choose the best answer.) 

A. Terraform modules 

B. Terraform remote state 

C. Terraform local-exec 

D. Terraform remote-exec 

Correct Answer: A 

 

 

QUESTION 5

Here is a partial code from a Terraform template written for Oracle Cloud Infrastructure (OCI): What operation(s) does it
perform? (Choose the best answer.) 
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A. Provides object read and write access for an OCI Object Storage bucket. 

B. Creates a pre-authenticated request for objects in an OCI Object Storage bucket. 

C. Creates a URL to provide access to an OCI Object Storage bucket for managing objects. 

D. Creates a lifecycle policy for an OCI Object Storage bucket for moving data to Archival storage at a specified time. 

Correct Answer: A 

 

 

QUESTION 6

You are working as a Cloud Operations Administrator for your company. They have different Oracle Cloud Infrastructure
(OCI) tenancies for development and production workloads. Each tenancy has resources in two regions – uk-london-1
and eu-frankfurt-1. You are asked to manage all resources and to automate all the tasks using OCI Command Line
Interface (CLI). 

Which is the most efficient method to manage multiple environments using OCI CLI? (Choose the best answer.) 

A. Use OCI CLI profiles to create multiple sets of credentials in your config file, and reference the appropriate profile at
runtime. 

B. Create environment variables for the sets of credentials that align to each combination of tenancy, region, and
environment. 

C. Run oci setup config to create new credentials for each environment every time you want to access the environment. 
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D. Use different bash terminals for each environment. 

Correct Answer: B 

 

 

QUESTION 7

Multiple teams are sharing a tenancy in Oracle Cloud Infrastructure (OCI). You are asked to figure out an appropriate
method to manage OCI costs. 

Which is NOT a valid technique to accurately attribute costs to resources used by each team? (Choose the best
answer.) 

A. Create a Cost-Tracking tag. Apply this tag to all resources with team information. Use the OCI cost analysis tools to
filter costs by tags. 

B. Create separate compartment for each team. Use the OCI cost analysis tools to filter costs by compartment. 

C. Create an Identity and Access Management (IAM) group for each team. Create an OCI budget for each group to
track spending. 

D. Define and use tags for resources used by each team. Analyze usage data from the OCI Usage Report which has
detailed information about resources and tags. 

Correct Answer: C 

 

 

QUESTION 8

You have been contracted by a local e-commerce company to assist with enhancing their online shopping application.
The application is currently deployed in a single Oracle Cloud Infrastructure (OCI) region. The application utilizes a
public load balancer, application servers in a private subnet, and a database in a separate, private subnet. 

The company would like to deploy another set of similar infrastructure in a different OCI region that will act as standby
site. In the event of a failure at the primary site, all customers should be routed to the failover site automatically. 

After deploying the additional infrastructure within the second region, how should you configure automated failover
requirements? (Choose the best answer.) 

A. Create a load balancer policy in the Traffic Management service. Configure one answer for each site. Set the answer
for the primary site with a weight of 10 and the answer for the secondary site with a weight of 100. 

B. Create a new A record in DNS that points to the public load balancer at the secondary site. Create a CNAME for the
sub-domain failover that will resolve to the new A record. Inform customers to prepend the website URL with failover if
the primary site is unavailable. 

C. Create a failover policy in the Traffic Management service. Set the IP address of the public load balancer for the
primary site in answer pool 1. Set the IP address of the public load balancer for the secondary site in answer pool 2.
Define a health check to monitor both sites. 

D. Deploy a new load balancer in the primary region. Create one backend set for the primary application servers and a
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second backend set for the standby application servers. Create a listener for the primary backend set with a timeout of 3
minutes. Create a listener for the secondary backend set with a timeout of 10 minutes. 

Correct Answer: D 

 

 

QUESTION 9

Which option contains the essential components of the Oracle Cloud Infrastructure Notifications service? (Choose the
best answer.) 

A. An ALARM with a name unique across the tenancy, a SUBSCRIPTION, and a METRIC with the measurement of
interest. 

B. A TOPIC with a name unique across the tenancy, a SUBSCRIPTION, and a MESSAGE where content is published. 

C. A TOPIC with a name unique across the compartment, a SUBSCRIPTION, and a MESSAGE where content is
published. 

D. An ALARM with a name unique across the compartment, a SUBSCRIPTION, and a METRIC with the measurement
of interest. 

Correct Answer: D 

 

 

QUESTION 10

You run a large global application with 90% of customers based in the US and Canada. You want to be able to test a
new feature and allow a small percentage of users to access the new version of your application. 

What Oracle Cloud Infrastructure Traffic Management steering policy should you utilize? (Choose the best answer.) 

A. Load Balancer 

B. IP Prefix steering 

C. ASN steering 

D. Geolocation steering 

Correct Answer: D 

Reference: https://docs.oracle.com/en-us/iaas/Content/TrafficManagement/Tasks/trafficmanagement.htm 
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